
7a. Chain Rule: Find the following derivatives of the (sometimes implicitly defined) functions: 

a) If ݖ = ݕଷݔ + ݔ ସ andݕݔ3 = sin (2ݐ) and ݕ = cos (ݐ), find డ௭
డ௧

 at t=0 
 
 
 
 
 
 
 
 

b) If ݔଷ + ଷݕ = defines y as a function of x implicitly, find డ௬ ݕݔ6
డ௫

 

 

 

 

 

 

 

 

c) Let ݖ = ݁௫cos (ݕ) and ݔ = ݏ ∙ ݕ and ݐ = ଶݏ√ + ଶ, find డ௭ݐ
డ௧

 and డ௭
డ௦

 

 

 

 

 

 

 

 

 

 

 

 

 
d) Find the rate of change of y with respect to t of 1222  zyx  for t = 1, assuming that x, y, and z are all 

functions of t and that x(1) = 1, y(1) = 2, z(1) = 3, and x’(1) = 0 and z’(1) = ½  

 
 


